Subject: Re: HISTOGRAM, binsize, and max
Posted by penteado on Wed, 18 May 2011 14:16:13 GMT

View Forum Message <> Reply to Message

On May 18, 11:05 am, andry <andry_will...@hotmail.com> wrote:

> My main concern is the number of elements returned by the function.
> The only difference between the 2 command is that | multiplied the
> binsize and max with 100. BUT they return 7 and 8 elements?

>

> | would expect they both return the same number of elements.

http://www.idlcoyote.com/math_tips/razoredge.html
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